EXAM DATE : 20-February-2018 EXAM START TIME : 10:30:00
EXAM NAME : SSC Examination EXAM DURATION : 02:00 Hrs
TOTAL MARKS : 200 TOTAL NO OF QUESTIONS : 100

QID : 1 - Which of the following statement(s) is/are TRUE?

1.333>33
II. 333 > (3%)3

fFefafea 8 @ o a/ T I 8/8?

1.333>33

1. 333 > (3%)3
Options:

1) Only |

hae |

2) Only Il

haet Il

3) Both land Il

| 2 11 3

4) Neither | nor Il
Tariagi
Correct Answer: Neither | nor Il

Tariagi

Candidate Answer: Neither | nor I

Tariagi

QID:2-1fP=22+62+102+ 142+ ..942and Q = 12+ 52 + 92 + .. 812, then what is the value of P — Q?

R P=22+62+102+142+..942qu1Q=12+52+92+ 8128 @ P - Q& " T &7

Options:
1) 24645
2) 26075
3) 29317
4) 31515

Correct Answer: 26075
Candidate Answer: [ NOT ANSWERED ]

QID:3-If A=(1/0.4) +(1/0.04) + (1/0.004) + ... upto 8 terms, then what is the value of A?

afe A = (1/0.4) + (1/0.04) + (1/0.004) + ... 8 U=l ek &, @t A T A1 T &2

Options:

1) 27272727.5

2) 25252525.5

3) 27777777.5

4) 25555555.5

Correct Answer: 27777777.5

Candidate Answer: 27777777.5

QID:4-1fM=0.1+(0.1)2+(0.01)2and N = 0.3 + (0.03)2 + (0.003)?, then what is the value of M + N?

e M = 0.1+ (0.1)2 + (0.01)2qT N = 0.3 + (0.03)Z + (0.003)2 &, &t M + N a1 HI o1 &2
Options:

1) 0.411009

2) 0.413131

3) 0.313131

4) 0.131313

Correct Answer: 0.411009

Candidate Answer: 0.411009



QID:5-

If P:i,Q: 27 and R:i,
95 x 97 96 x 98 97

then which of the following is TRUE?

96 o7 1
P: i — ?—r&ﬂ' R:—
el 95 x 97 . 96 x 98 7

g ar ff@a § 9 o9 o sew

Options:

1)P<Q<R

2)R<Q<P

3)Q<P<R

4 R<P<Q

Correct Answer: R<Q <P
Candidate Answer: R< Q<P

QID:6-
Which of the following statement(s) is/are
TRUE?
1 3 = 1 439

.  fiadi- B A
g C AT B 40 28

y o 11 12
© 1078 ~ 1127 ~ 1219
149 153 157

> o
151 155 159

faf@a § ¥ sl a7y Faa I
e/87?
1 3 1 1 439

T GILEE LT
27475 “10 20

I 9 . 1§ - 12

© 1078 " 1127 1219
149 153 157

Il > 5
151 155 159

Options:

1) Only |

hae |

2) Only Il

haet Il

3) Only Il

Ecll

4) None is true.

D 9 TE 81

Correct Answer: Only |

haet |

Candidate Answer: Only |
e |



QiD:7-
Which of the following statement(s) is/are

TRUE?
2 3 5
l. < <
35 2.5 4.3
3 2 ¥

2J6<3J§<4J§

Ffafaa § & sl a8 Fas g7
gl ?
2 3 5

< <
35 2.5 43
3 Y, 7

2J6<3J§<4J5

Options:
1) Only |
et |

2) Only Il
Fad I

3) Both land Il

| 2 11 gt

4) Neither I nor Il
FAIag

Correct Answer: Only |
|

Candidate Answer: [ NOT ANSWERED ]

QID : 8 - Which of the following statement(s) is/are TRUE?

1. The total number of positive factors of 72 is 12.
1I. The sum of first 20 odd numbers is 400.
11l. Largest two digit prime number is 97.

FafofEa & @ & ai/d suT a3 &/8?

1. 72 & Pl 12 YATcHS UHEUE &

1. w2 20 fawm rsit a1 g 400 g1
111, Y 3ichl St Ta TS 37T TeT 97 B
Options:

1) Only land Il

hae [ qarll

2) Only Il and HI

had [l ar il

3) Only I and I

e | gt il

4) All are true.

eft g g

Correct Answer: All are true.
eft g g

Candidate Answer: All are true.
aft g g

QID:9-If M =(3/7) = (6/5) x (2/3) + (1/5) x (3/2) and N = (2/5) x (5/6) + (1/3) + (3/5) x (2/3) + (3/5), then what is the value of M/N?

afk M = (3/7) + (6/5) x (2/3) + (1/5) x (3/2) AN = (2/5) x (5/6) = (1/3) + (3/5) x (2/3) = (3/5) & & M/N &I Wi & 22

Options:

1) 207/560
2) 339/1120
3) 113/350
4) 69/175

Correct Answer: 113/350



Candidate Answer: 113/350

QID : 10 - M is the largest 4 digit number, which when divided by 4, 5, 6 and 7 leaves remainder as 2, 3, 4, and 5 respectively. What will be the remainder when M is
divided by 9?
M, 4 3ichl it Tedt 9t T g, [ 4, 5, 6 U1 7 § fAufSid Rt o= A9 AT 2, 3, 4 U1 5 37T &1 519 M &t 9 & fanfSia fovar o, t *twher aram gl

Options:

1)2

2)1

3)3

4)6

Correct Answer: 1
Candidate Answer: 1

QID : 11 - Which of the following statement(s) is/are TRUE?

1.v11+v7<v10+ V8.
I.v17 +v11>v15+ V13

Ffofea & @ oF 9/d a9 8/8?

1.v11+v7<v10+ V8.
I.v17 +v11>v15+ V13

Options:
1) Only |
had |

2) Only Il
Shad |l

3) Bothland Il
| qT 11 &

4) Neither | nor Il
Fariagi

Correct Answer: Only |

Shad |

Candidate Answer: Both | and Il
| 2 1 3

QiD:12-
Which of the following statement(s) is/are TRUE?

. J12-316 > 424
. 325432848
N. 49 -315= 524

A=ef@a & & Fi9 o Fu9 g7 §E?

. J12-316 > %24
. 325 432848
. 49315 424

Options:
1) Only land Il
Fad | qull

2) Only I 'and llI
haet | qr il
3)only |
haet |

4) All are true.
aft g 81

Correct Answer: Only | and Il
et | qt il

Candidate Answer: [ NOT ANSWERED ]

QID:13-If x +y +2 = 22 and xy + yz + zx = 35, then what is the value of (x = y)2 + (y = 2)2 + (z - x)2?

TRX+y+2=22qATXy +yz+2x =358 @ (x - y)2+(y - 2)2 + (z - x)2 I A T &?



Options:
1) 793
2) 681
3) 758
4) 715

Correct Answer: 758
Candidate Answer: [ NOT ANSWERED ]

QID : 14 - If (x +y)/z = 2, then what is the value of [y/(y - 2)] + [x/(x = 2)]?

afg (x +y)/z =28 @ [y/(y - 2)] + [x/(x — 2)] &1 79 T &?
Options:

Correct Answer: 2
Candidate Answer: 2

QID : 15 - If a and B are the roots of equation x2 — 2x + 4 = 0, then what is the equation whose roots are a3/pZ and p3/a2?

o a qur B ghiaRor x2 - 2x + 4 = 0 & el &, o a8 Geitenwor an & forgas 1t o3/p2 aur p3/a? §2
Options:

Nx2-4x+8=0

2)x2-32x+4=0

3)x2-2x+4=0

4)x2-16x+4=0

Correct Answer: X2 - 2x+4=0

Candidate Answer: [ NOT ANSWERED ]

QID : 16 - If one root of the equation Ax2 +Bx + C = 0 is two and a half times the others, then which of the following is TRUE?

gfe gHieRor Ax2 +Bx + C = 0 &1 Yeh Il 81 4 18 Ton @, Y =i # d - araea 82
Options:

1) 7B2=3 CA

2)7B2=4CA

3)7B2=36CA

4) 10B2=49 CA

Correct Answer: 10B2 = 49 CA

Candidate Answer: 10B2 = 49 CA

QID : 17 - If X2 - 12x + 33 = 0, then what is the value of (x - 4)2 +[1/(x - 4)4?

i x2 - 12x+33 =08, a (x — 4)2 + [1/(x - 4)2] &1 A & 82
Options:

1)16

2)14

3)18

4) 20

Correct Answer: 14

Candidate Answer: [ NOT ANSWERED ]

QID: 18- If a* + 1 = [a%/b?] (4b2 - b* - 1), then what is the value of a* + b*?

afe at + 1 = [a%/b?] (4b% - b* - 1) &, dt a* + b ST A FET &2
Options:

1)2

2)16

3) 32

4) 64

Correct Answer: 2

Candidate Answer: 2



QID:19-

If 31/E +9-19-3 /i, then what is the
a 1-a

value of a?

afe 3,/1_—a+9:19—3/i ¥ ara @
a 1-a

AT FAT §72

Options:

1) 3/10,7/10
2)1/10,9/10
3) 2/5,3/5
4)1/5,4/5

Correct Answer: 1/10,9/10
Candidate Answer: [ NOT ANSWERED ]

QID:20-

Ifa+b=10and \/5—13:—\E—11,then
b =

what is the value of 3ab + 4a2 + 5b2?

g a+b=10 aur \/2—13:—\/2—11 g,

ar 3ab + 4a2 + 5b2 T AT T g7

Options:

Correct Answer: 300
Candidate Answer: [ NOT ANSWERED ]

QID:21-1f3x+4y-22+9=17,7x+2y + 112+ 8 =23 and 5x + 9y + 6z — 4 = 18, then what is the value of x +y + z — 34?

afd3x+4y -2z+9=17,7x+2y+112+8=23aA5x + 9y + 62 — 4 = 18 §, A x + y + z — 34 T A FT &7
Options:

Correct Answer: — 31
Candidate Answer: [ NOT ANSWERED ]|



QiD:22-

If x+3y—24—2:6, x+§(2y+32):33 and

;(x+y+z)+22:9, then what is the

value of 46x + 131y?

aie x+3y—24—2:6, x+§(2y+32)=33

e ;(x+y+z)+22:9 g, dr 46x +

131y T #ATT 4T 87

Options:
1) 414
2) 364
3) 384
4) 464

Correct Answer: 414
Candidate Answer: [ NOT ANSWERED ]

QID:23-
In the given figure, in triangle STU, ST=8 cm,
TU=9cmand SU=12cm. QU = 24 cm, SR
= 32 cm and PT = 27 cm. What is the ratio of
the area of triangle PQU and area of triangle
FPTR?

& 8 pia A, B STU A, ST = 8
AL, TU =9 TAL Tur SU = 12 T &
QU =24 THAL, SR =32 WH. TuT PT = 27
T € B PQU F SEwa dur B
PTR & &19%hel ¥ 1 HJUTd 7

P

Options:

Correct Answer: [ No Correct Answer ]
Candidate Answer: [ NOT ANSWERED ]



QID:24-

In triangle XYZ, G is the centroid. If XY = 11
cm, YZ =14 cm and XZ =7 cm, then what
is the value (in cm) of GM?

Prrsr XvZ #, G &eaw g1 I XY = 1
A, YZ = 14 A qur xZ = 7 A
g, df GM@T &A1 (WA &) 41 82

X

Options:

Correct Answer: 2
Candidate Answer: 2

QID: 25-
In the given figure, PQRS is a square
inscribed in a circle of radius 4 cm. PQ is
produced till point Y. From Y a tangent is
drawn to the circle at point K. What is the

length (in cm) of SY?

& oS Mg A, PQRS, 4 ¥.#A. Bewm aw
TF Jed H IHHT T 97 81 PQ F fawg ¥
d% a1 I gl ged W Y § faeg R W
wF FToer Y@r o= Y ¥ SY fr s
(TFA. /) Far &2

SAR

0

PN 0 >

Options:
1) 4v10
2) 2v10
3) 6v10
4) 3v5



Correct Answer: 4v10
Candidate Answer: [ NOT ANSWERED ]

QID : 26 - In a trapezium, one diagonal divides the other in the ratio 2 : 9. If the length of the larger of the two parallel sides is 45 cm, then what is the length (in cm) of
the other parallel side?

Teh GHeRd #, Ueh fenuf gar faemof &t 2 : 9 & Srgurd # faifSid eneat 81 afS &1 TAieR ofomafl @ Tas ISt oot ol e 45 9., 8, o T SHiaR oot & avas (3.7, #) . 82

Options:

1)10

2)5

3)18

4)14

Correct Answer: 10
Candidate Answer: 10

QID: 27-
In the given figure, CD and AB are diameters of
circle and AB and CD are pempendicular to each
other. LQ and SR are perpendiculars to AB and
CD respectively. Radius of circle is 5 cm, PB :
PA=2:3and CN: ND =2 : 3. What is the
length (in cm) of SM?

& a8 Hpfa A, CD qAT AB Jcd & <O §
YT AB 99T CD Teh g8 9 o4 g1 LQ T
SR &HAA: AB U1 CD X &4 gl Jcd &I
fsar 5 AAL &, PB: PA=2:3 9T CN:ND
=2:3 &1 SM & wFas (FA. #7) T 87

cq
R,ﬂ h‘ .
AQ P/ B
DL
Options:
1) [(5v3) - 3]
2) [(4v3) - 2]
3)[(2v5) - 1]
4) [(2ve6) - 1]

Correct Answer: [(2v6) — 1]
Candidate Answer: [ NOT ANSWERED |



QID: 28 -

In the given figure, PQRS is a square of side
20 cm and SR is extended to point T. If the
length of QT is 25 cm, then what is the
distance (in cm) between the centres O; and
O, of the two circles?

ar a1g 3Mpfd A, PQRS, 20 WA =T arol
U g § aur SR & favg T a9 dgrr mw
¥ afe QT fr oFar 25 ¥ & @ a=f
Tedl & deg O; TAT O, & ALF & g
(@ 7. ) @ 7

/\
\ /\92

Options:

1) 5v10

2) 4v10

3) 8v5

4)16v2

Correct Answer: 5v10

Candidate Answer: [ NOT ANSWERED ]|

QIiD:29-

In the given figure, MNOP is a square of
side 6 cm. What is the value (in cm) of

radius of circle?

& T8 HPid A, MNOP, 6 WA sfam
gl Uk & gl god A e @ A=
(Tr. =T, ) a1 g2

P 0
C /
M N
Options:
1) 4.25
2)3.75
3)35
4) 4.55

Correct Answer: 3.75



Candidate Answer: [ NOT ANSWERED ]

QID: 30 -
In the given figure, triangle PQR is a right
angled friangle at Q. If PQ =35 cm and QS
= 28 cm, then what is the value (in cm) of
SR?

& 7§l A, BRIT POR, Q W &
AT eI 81 I PQ = 35 JAT der
QS =28 ¥ & o SR &1 AT (T
) F41 872

P
S

Q R
Options:
1) 35.33
2)37.33
3) 41.33
4) 43.33

Correct Answer: 37.33
Candidate Answer: [ NOT ANSWERED ]|

QID:31-

In the given figure, P is the centre of the
circle. If QS = PR, then what is the ratio of
ZRSPto the L TPR?

& ¢ Apla H, P ged @ dew ¢l AR
QS = PR @&, df /RSP & /TPR & &1
AT §?

Correct Answer: 1:3
Candidate Answer: 1:3



QID : 32 - The distance between the centres of two circles is 61 cm and their radii are 35 cm and 24 cm. What is the length (in cm) of the direct common tangent to
the circles?

2 it & ) 3 e 1 o 61 Q.. 2 Ao Y Proumd 35 Q.. e 24 Q.70 &1 g1 ) IS arenst Y oy e (.4, ) @ 22

Options:

1) 60

2) 54

3) 48

4)72

Correct Answer: 60
Candidate Answer: 60

QID: 33 -
In the given figure, PQRS is a quadrilateral.
If QR =18 cm and PS =9 cm, then what is
the area (in cm?) of quadrilateral PQRS?

& a5 3Mpfd A, PQRS Tsh IS §1 TS
QR =18 §.#. dur PS=9 T#AL g a
IS PQRS &1 &Ahel (HHT2 H) Far
g7

Options:

1) (64v3)/3

2) (177v3)/2

3) (135v3)/2

4) (98v3)/3

Correct Answer: (135v3)/2

Candidate Answer: [ NOT ANSWERED |

QID : 34 - PQRis a triangle, whose area is 180 cm2. Sisa point on side QR, such that PS is the angle bisector of QPR. If PQ : PR = 2 : 3, then what is the area (in cmz)
triangle PSR?

PQR Gk et &, forreht &ther 180 @.#1.2 81 S, 3foT QR W Uah fag 39 WahR & fh PS, QPR R ahivr farreres 81 af PQ : PR = 2 : 3 8, at fagst PSR a1 @srchet (3.2 ) arm &2
Options:

1) 90

2) 108

3) 144

4)72

Correct Answer: 108

Candidate Answer: 90



QID:35-

In the given figure, ABCD is a square. EFGH is a
square formed by joining mid points of sides of
ABCD. LMNO is a square formed by joining mid
points of sides of EFGH. A circle is inscribed inside
EFGH. If area of circle is 38.5 cm?, then what is the
area (in cm?) of square ABCD?

& 7 smpfy &, ABCD uws = # ABCD #
semat % Few faegat St uw # EFGH
TR AT & EFGH &1 s[anat F Few Tawgal &
AR TF T LMNO Famam 1T §1 Ok god H
T EFGH & #fda Bar mam & afy 39 =
& Fer 385 WaAr? & o I ABCD T &F%

(B2 F) 7 2
A E B
L M
)
= G
o
o N
D I c
Options:
1) 98
2) 196
3)122.5
4)171.5

Correct Answer: 196
Candidate Answer: [ NOT ANSWERED ]|

QID : 36 - ABCDEF is a regular hexagon of side 12 cm. What is the area (in cm?) of the triangle ECD?

ABCDEF 12 @5, SiT aTell Ueh T8 WS &1 B1ysT ECD a1 ket (3.71.2 &) aan 82

Options:

1) 18v3

2) 24V3

3) 36v3

4) 42v3

Correct Answer: 36v3

Candidate Answer: 36v3

QID : 37 - PQRS is a square whose side is 16 cm. What is the value of the side (in cm) of the largest regular octagon that can be cut from the given square?

PQRS, 16 Y.HT. i aret Ueh &t §1 e 7 &l & ahre 71 Wehm! aTet Tard a1 T3 ST & i1 a1 A (8.4, &) R g2
Options:

1)8-4v2

2)16+8v2

3)16v2 - V16

4)16 - 8v2

Correct Answer: 16v2 - V16

Candidate Answer: [ NOT ANSWERED |



QID:38-

In the given figure, PQRS is a rectangle and
a semicircle with SR as diameter is drawn.
A circle is drawn as shown in the figure. If
QR =7 cm, then what is the radius (in cm)

of the small circle?

& T MHid A, PQRS Ueh I § T
SR TUH TIaT Ueh YIS 4T a7 gl
ST TR spfd & cAmm IAm ¥ R e
god §T3T AT §1 ARG QR =7 FAL A
BIC god & B (@A #) Far §7

P Q
A
S R
Options:
1) 21+ 14v2
2) 21 - 14v2

3) Both 21 + 14v2 and 21 - 14v2
21 +14v23uT 21 - 14v2 &4t
4) None of these

EREEEIEE ]
Correct Answer: 21 — 14v2
Candidate Answer: [ NOT ANSWERED ]
QID:39-

In the given figure, PQR is a quadrant
whose radius is 7 cm. A circle is inscribed in
the quadrant as shown in the figure. What is

the area (in cm?) of the circle?

& W FHfT H, PQR UF Jcd-@YS @
foradr s 7 T &1 s & amefa A
T T § % goa-@vs A & gead @
Jfehet TR 91T §1 god @1 &b (F.HY2
H) Fa1 872

N




Options:

1) 385 - 221v2
2) 308 - 154v2
3) 154 = 77v2
4) 462 — 308v2

Correct Answer: 462 - 308v2
Candidate Answer: [ NOT ANSWERED ]

QID : 40 - A prism has a regular hexagonal base with side 6 cm. If the total surface area of prism is 216v3 cm?, then what is the height (in cm) of prism?

Teh O BT STTEIR, Yeh 6 .7, 9Tl aTelt GHueST 81 afe few o1 et gt ether 216v3 .12 &, dt firew it o (&1, &) wn @2
Options:

Correct Answer: 3v3
Candidate Answer: 3v3

QID : 41 - The radius of base of solid cone is 9 cm and its height is 21 cm. It cut into 3 parts by two cuts, which are parallel to its base. The cuts are at height of 7 cm
and 14 cm from the base respectively. What is the ratio of curved surface areas of top, middle and bottom parts respectively?

Ueh 31 i & SR &t Brear 9 T4t & Tur ITeht Sard 21 .. §1 38 &l Fherd, S YR & FHIaR & & 3 9T & ShIeT 17| Sherd SMYR @ shasr: 7 3., aur 14 .41, d S R &
THART: UL, T TUT Faet 9T o ash JEIT Sthel T STUTd T 87

Options:

1)1:4:8

2)1:3:5

3)1:3:9

4)1:6:12

Correct Answer:1:3:5

Candidate Answer: 1:3:5

QID : 42 - Aright circular cylinder has height as 18 cm and radius as 7 cm. The cylinder is cut in three equal parts (by 2 cuts parallel to base). What is the percentage
increase in total surface area?

Ueh STHIad MEATehR Soi &t erwams 18 .4t e fsar 7 9.+t 81 3o ot i1 aRTeR Wl & ehleT STt & (SMTeR & TR 2 Therd gRI) | St g &thaet § foham ufdsra & gfg g2 82
Options:

Correct Answer: 56
Candidate Answer: 56

QID : 43 - The ratio of curved surface area and volume of a cylinder is 1 : 7. The ratio of total surface area and volume is 187 : 770. What is the respective ratio of its
base radius and height?

Qe S & ash YBIT &5hel qT SR ol 3IgUTd 1: 7 &1 1 USI &-thel qT SIRIA ol 3IgUTd 187 : 770 1 5eh YR i Brar aum $=ms shAen: Sigurd T 62
Options:

Correct Answer: 7 : 10
Candidate Answer: [ NOT ANSWERED |

QID : 44 - The ratio of total surface area and volume of a sphere is 1: 7. This sphere is melted to form small spheres of equal size. The radius of each small sphere is
1/6! the radius of the large sphere. What is the sum (in cm2) of curved surface areas of all small spheres?

e et & et JEIT el dT ST T S1gUTd 1: 7 §1 39 7iel 3l fUbcmeny SRTeR A9 & Bie Mol -1 ST & | Tk BIe et ot Bar 18 et 61 e di 1/6 &1 9+ 8 Mt &
ash qEfig @t <t A (.12 H) @ &2

Options:

1) 31276

2) 36194

3) 25182
4) 33264

Correct Answer: 33264
Candidate Answer: 33264



QID: 45-

A hemisphere is kept on top of a cube. lis
front view is shown in the given figure. The
total height of the figure is 21 cm. The ratio of
curved surface area of hemisphere and total
surface area of cube is 11 : 42. What is the
total volume (in cm?®) of figure?

Udh I UH HA O @I E| FHE
AHA H T Pla # geiEr @ g
WHa f For Furg 21 WAL B el &
g% JEOIg &Fme dUT O & Pl oo
8ol FT IFAT 111 42 1 IHT A FA
T (RFE A7) T 82

_

Options:

1) 3318.33
2) 3462.67
3)3154.67
4) 3248.33

Correct Answer: 3462.67
Candidate Answer: 3462.67

QID : 46 - A solid cube has side 8 cm. It is cut along diagonals of top face to get 4 equal parts. What is the total surface area (in cmz) of each part?

Teh S & Y o1 8 4.1, 81 I8 FIR TaE & fAehUil TR 4 GHI W & Il ST & | Ucdieh | a1 et GBIT Siathet (@712 ) ar 82

Options:

1) 96 + 64v2
2) 80 + 64v2
3) 96 +48v2
4) 80 +48v2

Correct Answer: 96 + 64v2
Candidate Answer: 96 + 64v2

QID : 47 - A regular pyramid has a square base. The height of the pyramid is 22 cm and side of its base is 14 cm. Volume of pyramid is equal to the volume of a
sphere. What is the radius (in cm) of the sphere?

Ueh A fURIfAS ot SMYR Ues avf § 1 firifire &t $amg 22 9.7, & a1 39 SR &t ofet 14 .51, &1 foifire a1 e Ues et o Sirae 3 sRTeR g1 el &t e (3.5, ) i g2
Options:

1)
349

3/98
Correct Answer: 7
Candidate Answer: 7

QID : 48 - What is the value of [sin (y — z) + sin (y + z) + 2 sin y)/[sin (x = z) + sin (x + ) + 2 sin x]?

[sin (y — 2) + sin (y + z) + 2 sin y]/[sin (x — 2) + sin (x + Z) + 2 sin x] T A &7 §?
Options:

1) cos x siny

2) (siny)/(sin x)

3)sinz

4) sinxtany

Correct Answer: (sin y)/(sin x)



Candidate Answer: [ NOT ANSWERED ]

QID : 49 - What is the value of {[sin (x +y) — 2 sin x + sin (x = y)I/[cos (x = y) + cos (x +y) — 2 cos x]} x [(sin 10x - sin 8x)/(cos 10x + cos 8x)]?

{[sin (x +y) — 2 sin x + sin (x - y)I/[cos (x — y) + cos (x +y) — 2 cos x]}  [(sin 10x — sin 8x)/(cos 10x + cos 8x)] T HI T &?
Options:

1)0

2) tan? x

3)1

4) 2 tan x

Correct Answer: tanZ x

Candidate Answer: [ NOT ANSWERED ]|

QID : 50 - What is the value of [sin (90° - 108) - cos (p — 68)]/ [cos (p/2 - 108) - sin (p - 68)]?

[sin (90° - 108) - cos (p - 68)]/ [cos (p/2 — 108) — sin (p — 68)] &1 {7 HIT &?

Options:
1) tan 26
2) cot 26
3) cot B

4) cot 36

Correct Answer: cot 26
Candidate Answer: [ NOT ANSWERED ]|

QID : 51 - If sec 8 (cos 8 + sin B) = v2, then what is the value of (2 sin 8)/(cos 6 - sin 8)?

afe sec 6 (cos 6 + sin 8) = v2 &, @t (2 sin 8)/(cos 6 — sin B) T AT FT &7

Options:

1) 3v2

2) 3/¥2

3)1/v2

4)v2

Correct Answer: v2

Candidate Answer: [ NOT ANSWERED ]

QID:52-

What is the value of
1 1

+ 2
sin*(90-6) [ cos*(90-6)]-1

1 ) 1
sin“(90-6) [cos*(90-6)]-1

T AT 4T 87

Options:

1) tan? 8 sec? 6

2) sec? @

3)tan?o

4)tan20sin2 0

Correct Answer: tan? 8 sec? 9

Candidate Answer: tan? 8 sec? 6

QID : 53 - What is the value of [tan (90 - A) + cot (90 — A)]%/[2 sec? (90 - 2A)]?

[tan (90 - A) + cot (90 — A)|%/[2 sec? (90 - 2A)] &I =1 &I &2
Options:

Correct Answer: 2
Candidate Answer: 1



QID : 54 - What is the value of {sin (90 - x) cos [t = (x = y)I} + {cos (90 - x) sin [t = (y = X)]}?

{sin (90 - x) cos [1t - (x = y)I} + {cos (90 — x) sin [t — (y — X)]} T =T =T &2
Options:

1)-cosy

2) -siny

3) cos x

4)tany

Correct Answer: -cCoS y

Candidate Answer: cos x

QID : 55 - The angle of elevation of an aeroplane from a point on the ground is 60°. After flying for 30 seconds, the angle of elevation changes to 30°. If the aeroplane
is flying at a height of 4500 m, then what is the speed (in m/s) of aeroplane?

BeT IR Teh fig, § Teh TS STEIST ol S0+ &ioT 60° &1 30 YehUs Iga & UL, I74 ahior 30° & uRafcid g Sirar &1 afe gars seret 4500 =, Y F=mé W I 281 8, ot garé sigret Y
fa (/3. F) " g?

Options:

1) 50v3

2) 100v3

3) 200v3

4) 300v3

Correct Answer: 100v3
Candidate Answer: 100v3

QID : 56 - A kite is flying in the sky. The length of string between a point on the ground and kite is 420 m. The angle of elevation of string with the ground is 30°.
Assuming that there is no slack in the string, then what is the height (in metres) of the kite?

Ueh T ST & I &t &1 A U Ueh fomg & U deh ot <t aiwairs 420 . &1 A< & 4mt o1 379 ahior 30° &1 71 Ay Fr amt & i Semu= gt 8, at udn f Fard (+HFex )
T E?
Options:

Correct Answer: 210
Candidate Answer: 210

QID : 57 - A balloon leaves from a point P rises at a uniform speed. After 6 minutes, an observer situated at a distance of 450v3 metres from point P observes that
angle of elevation of the balloon is 60°. Assume that point of observation and point P are on the same level. What is the speed (in m/s) of the balloon?

Ueh eaRT Geh 1 1fd & fomg P & BT ST 81 6 fAve g, famg P @ 45073 Hier & W e Tfleran & it 3@ ¢ fh TsaR ol 373 ot 60° &1 A1 +iifSig foh geiter fomg dqur famg
P Ueh €1 &R W & | s ol i (/& ) 82

Options:

1) 4.25

2)3.75

3)45

4) 3.45

Correct Answer: 3.75

Candidate Answer: 3.75



QID: 58 -

The table given below shows the information about bats
manufactured by 6 different companies. Each company
manufactures only plastic and wooden bats. Each company
labels these bats as Brand A or Brand B. The table shows
the number of plastic bals as a percentage of total bats
manufactured by each company. It also shows the ratio of
wooden bats labeled A and B. Each company manufactured
a total of 550000 bats.

A & N1E arfee 6 Wi FuRRT gERr IeuEa Fedr
F g H SR F gl §) ucde Suslt daer cenited
aur @2l & doell H IcUGd FLr gl FE dHell gl
Fooll @ gUE A Hudr @vs B & w9 A ogd #dl B
e & Seds Fl @ 3eNGd Fe doell & ufaud
F ¥ H talffes & ool S Hem @ gafar mr ) ag
A T B 795 & W@sl & "ol & Hadaid & o g
TeAF FIA FI el Fel 5650000 doel Fl

Company | | Plastic bats/ | Brand A: Brand B/
AT tHEeE F a°d qWE A : §UE B

R 550 21:4
5 70% 8.7

T 5%, 610
7] 75% 41 ; 14
% 60% 715
W 40% 5.6

What is the total number of wooden bats of brand A manufactured by company T?

Ot T GRT ST STUE A & Ahe! o Foct] i ol TAT T 82
Options:

1) 23420

2) 22990

3) 68920

4) 72600

Correct Answer: 72600

Candidate Answer: 72600



QID:59-

The table given below shows the information about bats
manufactured by 6 different companies. Each company
manufactures only plastic and wooden bats. Each company
labels these bats as Brand A or Brand B. The table shows
the number of plastic bals as a percentage of total bats
manufactured by each company. It also shows the ratio of
wooden bats labeled A and B. Each company manufactured
a total of 550000 bats.

A & N1E arfee 6 Wi FuRRT gERr IeuEa Fedr
F AR H el FF gefelt §1 o el daer confies
aur @2l & doell H IcUGd FLr gl FE dHell gl
Fooll @ gUE A Hudr @vs B & w9 A ogd #dl B
e & Seds Fl @ 3eNGd Fe doell & ufaud
& w7 coffes & gl & we # g g 3
A T B 795 & W@sl & "ol & Hadaid & o g
TeAF FIA FI el Fel 5650000 doel Fl

Company | | Plastic bats/ | Brand A: Brand B/
AT tHEeE F a°d qWE A : §UE B

R 550 21:4
5 70% 8.7

T 5%, 610
7] 75% 41 ; 14
% 60% 715
W 40% 5.6

N = Wooden bats of Brand B manufactured by U.
M = Total wooden bats manufactured by R and W together.
What is the value of N/M?

N = U gRT 3a1ied STU€ B & Sehet & seet|
M = R T W gRT fieieR Iafed et siect |
N /M T AT T 82

Options:

1) 0.043

2) 0.061

3)0.125

4) 0.087

Correct Answer: 0.061

Candidate Answer: 0.061



QID: 60 -

The table given below shows the information about bats
manufactured by 6 different companies. Each company
manufactures only plastic and wooden bats. Each company
labels these bats as Brand A or Brand B. The table shows
the number of plastic bals as a percentage of total bats
manufactured by each company. It also shows the ratio of
wooden bats labeled A and B. Each company manufactured
a total of 550000 bats.

A & N1E arfee 6 Wi FuRRT gERr IeuEa Fedr
F AN A SR el §1 9ede el Fae canfed
aur @2l & doell H IcUGd FLr gl FE dHell gl
geell # AUE A FUaT @2 B & w9 H dEd #dr Bl
e & Seds Fl @ 3eNGd Fe doell & ufaud
F ¥ H talffes & ool S Hem @ gafar mr ) ag
A T B AVE & TS & Feoll & wd & o guieh &
TeAF FIA FI el Fel 5650000 doel Fl

Company | | Plastic bats/ | Brand A: Brand B/
AT tHEeE F a°d qWE A : §UE B

R 550 21:4
5 70% 8.7

T 5%, 610
7] 75% 41 ; 14
% 60% 715
W 40% 5.6

P = Sum of wooden bats of Brand B manufactured by S and wooden bats of Brand A manufactured by W.
Q = Difference of Brand B wooden bats and Brand A wooden bats manufactured by U.

What is the value P - Q?

P = S gRI 3T §TUS B & diehat & doeti aUT W gRT ITd 108 A & dAchal o dedd] ol A1
Q = U gRT 31fed STU€ B & cicha! & soeil a1 STUS A & Aehal o doctl ol SfaR|

P - Q &1 °H &RIT &7

Options:

1) 67500

2) 177700

3) 159500

4) 123500

Correct Answer: 159500

Candidate Answer: 159500



QID: 61-

The table given below shows the information about bats
manufactured by 6 different companies. Each company
manufactures only plastic and wooden bats. Each company
labels these bats as Brand A or Brand B. The table shows
the number of plastic bals as a percentage of total bats
manufactured by each company. It also shows the ratio of
wooden bats labeled A and B. Each company manufactured
a total of 550000 bats.

A & N1E arfee 6 Wi FuRRT gERr IeuEa Fedr
F AR H el FF gefelt §1 o el daer confies
aur @2l & doell H IcUGd FLr gl FE dHell gl
Fooll @ gUE A Hudr @vs B & w9 A ogd #dl B
e & Seds Fl @ 3eNGd Fe doell & ufaud
& w7 coffes & gl & we # g g 3
A T B 795 & W@sl & "ol & Hadaid & o g
TeAF FIA FI el Fel 5650000 doel Fl

Company | | Plastic bats/ | Brand A: Brand B/
AT tHEeE F a°d qWE A : §UE B

R 550 21:4
5 70% 8.7

T 5%, 610
7] 75% 41 ; 14
% 60% 715
W 40% 5.6

Taking all 6 companies together, how many wooden bats of Brand A have been produced?

goft 6 hufat ot ATy, ST A & foham At & ot T8 T &2
Options:

1) 691000

2) 724000

3) 683000

4) 716000

Correct Answer: 691000

Candidate Answer: [ NOT ANSWERED ]|



QID:62-

The table given below shows the information about bats
manufactured by 6 different companies. Each company
manufactures only plastic and wooden bats. Each company
labels these bats as Brand A or Brand B. The table shows
the number of plastic bats as a percentage of total bats
manufactured by each company. It also shows the ratio of
wooden bats labeled A and B. Each company manufactured
a total of 550000 bats.

A & N1E arfee 6 Wi FuRRT gERr IeuEa Fedr
F g H SAHL A gy §1 IodE FEl Fa carfted
aAT TS F Aeell W IcUGH FL gl GAd Fed ol
gedl H AUZ A Hudr g B F ¥ H d&a T B
e & Seds Fl @ 3eNGd Fe doell & ufaud
F ¥ H talffes & ool S Hem @ gafar mr ) ag
A T B AVE & TS & Feoll & wd & o guieh &
Tl EeAl F IcuiGe e 550000 dod

Company / Plastic bats / Brand A : Brand B/
AT tHEeE F a°d qWE A : §UE B

R 550 21:4
5 70% 8.7

T 5%, 610
7] 75% 41 ; 14
% 60% 715
W 40% 5.6

X = Average of plastic bats manufactured by V,Uand T.
Y = Wooden bats of Brand A manufactured by V.
What is the value X - Y?

X =V, Uyl T gRI I wA1feeh & sl ol S|
Y = V gRI IR 108 A & dTehal & Sext |

X - Y &1 o @ §?

Options:

1) 197600

2) 432890

3) 260000

4) 293300

Correct Answer: 260000
Candidate Answer: [ NOT ANSWERED ]

QID : 63 - A drum contains 80 litres of ethanol. 20 litres of this liquid is removed and replaced with water. 20 litres of this mixture is again removed and replaced with
water. How much water (in litres) is present in this drum now?

e g8 H 80 ofier 334TeT &1 39 IRl UaTe & 20 tex Fehrer Ry 911 € ofk 39 urit § ufaenfoa forar Srar &1 3 fAsror Y 20 fiex amn &t fofR & fAeran sian & ofiR o & ufarenfug
o SITaT 81 ore 39 g1 & e aret (eftex §) s 82

Options:

Correct Answer: 35
Candidate Answer: 35

QID : 64 - An alloy is made by mixing metal A costing Rs 2000/kg and metal B costing Rs 400/kg in the ratio A:B = 3:1. What is the cost (in Rs) of 8 kilograms of this
alloy?

Ten sy arg Y 2000 & / .71, 1T ateft e1g A 3R 400 & / .71, AT areft emg Bt A1 B = 32 1 31UTd o fAS101 @ ST ST 8| 59 ey erg o 8 oo, &1 w1 (3 ) e ghm?
Options:

1) 1600

2) 9800

3) 6400

4) 12800

Correct Answer: 12800

Candidate Answer: 12800



QID : 65 - A, B and C invest to start a restaurant. The total investment was Rs 3 lakhs. B invested Rs 50,000 more than A and C invested Rs 25,000 less than B. If the
profit at the end of the year was Rs 14,400 then what is C's share of the profit (in Rs)?

A, B 3R C T&h 3R F e & forg e ad 81 gt far 3 @@ 3 11 B 3 A &Y gorem § 50,000 % a1 31fdiek faer faar 8k C = B § 25,000 & o1 e fder fomam) afs arer & sia &
SIfStd 127 14,400 & o1, A ST 9 & C 1 fgmm aan & (3 #)?

Options:

1) 3600

2) 4800

3) 6000

4) 7200

Correct Answer: 4800

Candidate Answer: 4800

QID : 66 - Two businessmen A and B invest in a business in the ratio 5 : 8. They decided to reinvest 30% of the profit they earned back into the business. The
remaining profit they distributed amongst themselves. If A's share of the profit was Rs 87,500 then how much profit (in Rs) did the business make?

S emiRat A iR B A 5 : 8 & 3l H Ueh dRIGR # Faer o) I saaam & SHTg g ATeT h 30% LRI a1 GAfaRT 3wt ot Fofar foram iw ame @l 317 w3 & ffe faafRa a=
foram| eR 1 § A &1 2R 87,500 T o, Y 39 HRIER F fhe=1 amet (U2 ) ga?

Options:

1) 227000

2) 250000

3) 375000

4) 325000

Correct Answer: 325000

Candidate Answer: 375000

QID : 67 - Working alone A can do the task in 27 hours and B can do it in 54 hours. Find C's share (in Rs) if A, B and C get paid Rs 4,320 for completing a task in 12
hours on which they worked together.

31het T e §U A 27 W2 H T Rl ORT R ekl § 3R B 9 54 © B o TehdT 81 C & IR &1 U1 oITG (3 H) ARk A, B R C ot 12 w2 § Uk s U1 et o g 4,320 % At
T fAerar &, for ur I8 e e s fakam o

Options:

1) 1440

2) 960

3) 1920

4) 1280

Correct Answer: 1440

Candidate Answer: 1440

QID : 68 - If A had worked alone he would have taken 63 hours to do the task. What is B's share, if A and B work together on a task finishing it in 36 hours and they get
paid Rs 5,950 for it?

TfE A 7 Srchet 1 foRaT BiaT df a8 1 e o folg 63 ©¢ AiaT| B 3T g oRIT gV, SFR A 3R B Qe T &hiH Shich 39 36 ©E H GHTW vd & IR 39 folg 5,950 I &1 3Tam foham
SIGI

Options:

1) 3400

2) 3600

3) 2550

4) 2750

Correct Answer: 2550

Candidate Answer: 2550

QID : 69 - Working together A, B and C can complete a task in 12 days. A and B can do the task in 55 days and 66 days respectively if they worked alone. In how many
days can C do the task if he worked alone?

1Y # &1 e Y A, B 3R C 12 AT # U o O3 R ekt 81 AT 3 S1hat-STehel S ad 8, at A 3R B ghmsr: 55 AT 3R 66 &t # a8 ovid qr1 o @ed 81 afS a8 &M s1ehet C
AT 8, A I T i ag fohan AT & qr1 R Fenelt 82

Options:

1) 22

2) 44

3)20

4) 40

Correct Answer: 20

Candidate Answer: 20

QID : 70 - B would have taken 10 hours more than what A would have taken to complete a task if each of them worked alone. Working together they can complete the
task in 12 hours. How many hours would B take to do 50% of the task?

B ot Tk i U1 At o ol A ot o & 10 €2 31f s T oTa, SR I8 & Uik = Sfchol-fchel e foharm gYa| Teh a1 shif o §U 3 39 i ht 12 B & qRT ok Wehd &1 B Y
3T T T 50% T o fore fohas ¢ amiar?

Options:

1) 30

2)15

3)20

4)10

Correct Answer: 15



Candidate Answer: 15

QID : 71 - Giving two successive discounts of 20% is same as giving one discountof ________ %.

20% T TRTIAR & e 3T % o Tk e 3 & T &1
Options:

1) 36

2) 40

3)44

4) 50

Correct Answer: 36

Candidate Answer: 36

QID : 72 - A retailer marks up his goods by 150% and offers 40% discount. What will be the selling price (in Rs) if the cost price is Rs 800?

e Gean fashdT ST0 ST ol 4ed 150% & SgTeans Sifchd aheaT & 3R 40% ol T a1 5| 3R I 1 7 800 IU §, At I5aAT fershi 7w (¥ H) R ghmm?

Options:

1) 1200

2) 1500

3) 1000

4) 2000

Correct Answer: 1200

Candidate Answer: 1200

QID : 73 - On a television of brand A the discount is 25% and on television of brand B the discount is 40%. The price of B after discount Rs 2,250 greater than the price
of A after discount. What is the marked price of A (in Rs) if marked price of B is Rs 35,0007

1S A & Ueh efidior W 25% Hi e § 3R 7S B & Telifast IR 40% i Be &1 Te & 16, B 1 40 T & 916, A & 7o § 2,250 302 31f0e g1 A a1 sifthd Hqew (30 #) = 8, afe B
@ sifehd ge 35,000 ¥ &7

Options:

1) 18750

2) 21000

3) 25000

4) 17850

Correct Answer: 25000
Candidate Answer: 25000

QID : 74 - If 60% discount is offered on the marked price and selling price becomes equal to cost price then what was the % mark up?

Tfg Sifchd Jea TR 60% T I GrensT Y ST & SR Ieht Joa amTa Jed & aRTeR 8 it 8, af Jed foha = % & agrens Sifchd foram mar ar?
Options:

1) 100

2) 250

3) 150

4) 40

Correct Answer: 150

Candidate Answer: 150

QID:75-1f 3A=6B =9C; WhatisA:B:C

giE3A=6B=9C;atA:B:Cag?
Options:

1)6:3:1

2)6:3:2

3)9:3:6

4)9:3:1

Correct Answer: 6:3:2

Candidate Answer: 6:3:2

QID : 76 - How many job applicants had applied if the ratio of selected to unselected was 19:17. If 1,200 less had applied and 800 less selected, then the ratio of
selected to unselected would have been 1:1.

st & forg foham smmagent 7 armde fawar o, afe Tafa ofk R-gafa sl & T a1 sruTd 19:17 M1 afg 1,200 &4 smdeen! 3 smde foRar giar ik 800 smdeds & g oid, at
T[T 3R TR-=aa Sndeen! & o & 3rgurd 1: 1 gianl

Options:

1) 6000

2) 7200

3) 8400

4) 4800

Correct Answer: 7200
Candidate Answer: 7200
QID : 77 - What is the third proportional to 10 and 20?

10 3R 20 & g T sguTfae = 82



Options:

1) 30

2) 25

3)50

4)40

Correct Answer: 40
Candidate Answer: 40

QID : 78 - The ratio of the sum of the salaries of A and B to the difference of their salaries is 11:1 and the ratio of the sum of the salaries of B and C to the difference
of their salaries is also 11:1. If A's salary is the highest and C's is the lowest then what is B's salary (in Rs) given the total of all their salaries is Rs 1,82,000?

A 3R B & da & AT 3R Ik A & SiaR ol S1UTd 11:1 8RB 3R C & Ia & T 3R Ik Ia & iR a1 U oft 11:1 81 3R A &1 I Tet Sa1eT 8 3R C 1 da T
A g, It B o1 a4 (3 H) 1 &, e man & 16 3ent et 3o 1,82,000 3 872

Options:

1) 72000

2) 60000

3) 50000

4) 86400

Correct Answer: 60000
Candidate Answer: 60000

QID : 79 - If by increasing the price of a ticket in the ratio 8:11 the number of tickets sold fall in the ratio 23:21 then what is the increase (in Rs) in revenue if revenue
before increase in price of ticket was Rs 36,8007

& 8:11 o S1guTd | feehe & e | gfeg ol ST & ol o T feene) &t T & 23:21 srgura & fiRrae o1t &, at worea # g8 gfg (3 7) F1 8, R feane Y e 7 9 § uget wora
36,800 % u1?

Options:

1) 21250

2) 9400

3) 7850

4) 12850

Correct Answer: 9400
Candidate Answer: 9400

QID : 80 - The ratio of ages of the father and mother was 11:10 when their son was born. The ratio of ages of the father and mother will be 19:18 when the son will be
twice his present age. What is the ratio of present ages of father and mother?

fOa Sfiz Af T 39 a1 SrgaTd 1110 o, ST eS¢ T ST+ gaiT 7| firaT ofR 71 <t 35 & SrguTal 19:18 T, ST& G i 1Y 70 T ST & GIEHT 8t st | i ofk 1 & &t
3T T T U &7

Options:

1)15:14

2)14:13

3)16:15

4)17:16

Correct Answer: 15: 14

Candidate Answer: [ NOT ANSWERED ]

QID : 81 - Of the 3 numbers whose average is 22, the first is 3/8t the sum of other 2. What is the first number?

3 Treit § §, fSiept ofiad 22 &, Ugelt U &t 3y sl & O ohT 3/8-ai 3w &1 g Tea R 872
Options:

Correct Answer: 18
Candidate Answer: 18

QID : 82 - The average of three consecutive odd numbers is 52 more than 1/3" of the largest of these numbers. What is the smallest of these numbers?

AR i o deersif o1 sitd 3799 § qe< Jet 9T & 1/3 § 52 31l &1 378 & a9 BId I=1 =7 82
Options:

Correct Answer: 77
Candidate Answer: 75

QID : 83 - A batsman scores 98 runs in the 17t match of his career. His average runs per match increased by 2.5. What is his average before the 17t match?

Ueh Soetamet A 30 SRAR & 17-3 F9 8 98 T a9 | I9eh Ui 89 offd 1 8§ 2.5 &l gfg §31 17-3 89 9§ Ugel IUdh! ofiad a1 87



Options:

1) 58

2) 60.5

3) 63

4) 55.5

Correct Answer: 55.5

Candidate Answer: 55.5

QID : 84 - What is the average of all numbers between 100 and 200 which are divisible by 13?

100 3fR 200 & ot & Goft Tt o sfad Far g, < 13 @ fRArsT 81?7

Options:
1)147.5
2) 145.5
3)143.5
4) 149.5

Correct Answer: 149.5
Candidate Answer: 149.5

QID : 85 - A vendor buys bananas at 9 for Rs 8 and sells at 8 for Rs 9. What will be the profit or loss (in %)?

ek fchar 8 € § 9 dhet WltadT & 3R 9 T & 8 dhel AT &1 SR AT AT ThETH (% ) T g2

Options:
1) 13.28% profit
13.28% &4

2) 26.56% loss

26.56% T
3) 26.56% profit
26.56% =Y

4) 13.28% loss
13.28% qeHaT

Correct Answer: 26.56% profit
26.56% 19

Candidate Answer: 26.56% profit
26.56% <

QID : 86 - If a stall sells a pizza at Rs 200 he makes 20% loss if he wants to make 10% profit then at what price (in Rs) should he sell?

& 1S LI 200 T A IS =ret & df 3§ 20% 1 Jerd™ BidT 8, 3R I8 10% AT 31T e =rga &, df 39 fh e 7 (3 #) S anfdq?

Options:

1) 250

2) 300

3) 275

4) 325

Correct Answer: 275
Candidate Answer: 275

QID : 87 - A wholesaler had 200 dozens of mangoes. He sold some of these mangoes at 20% profit and the rest at 10% profit, so that he made 13% profit on selling all
the mangoes. How many mangoes (in dozens) did he sell at 20% profit?

e ek STaRY o UTe 200 IS 3 &1 I §75 & O ATH i 20% A1 TR 3R AW ATH Al 10% A1 TR <, d1fes gg Goft Sl et aet TR 13% 1T AT Gk | 39 20% A1 TR
foham o1 (goti ) S?
Options:

Correct Answer: 60
Candidate Answer: 60

QID : 88 - If the selling price is tripled and cost price doubled the profit would become 65%. What is the present profit (in %)?

T ekt o1 gea 9 1 & SR AFTa e QR 81t AT 65% BT ST | HiISIET AreT (% H) T 82
Options:

Correct Answer: 10
Candidate Answer: 10

QID : 89 -0.06% of 250% of 1600is _______.

1600 & 250% T 0.06% & TRIER I




Options:
1) 24

2) 0.24
3) 0.024
4)24

Correct Answer: 2.4
Candidate Answer: 0.24

QID : 90 - Two numbers are 90% and 75% lesser than a third number. By what % should the first number be increased so that it becomes equal to the second number?

3} Ty Uk Ot T @ 90% 3R 75% A &1 Ugelt et B fohdwt % H gfeg ot St anfiy anfh ag qud g & s_reR g Sg?

Options:
1) 250
2) 200
3) 150
4) 100

Correct Answer: 150
Candidate Answer: 150

QID : 91 - When a number is increased by 216, it becomes 140% of itself. What is the number?

STe foneft ST ht 216 9 T ST &, Ot I W Y 140% gt STell &1 g TeaT T 82

Options:
1) 540
2) 756
3) 450
4) 675

Correct Answer: 540
Candidate Answer: 540

QID : 92 - A man donates 30% of his wealth to charity. 30% and 25% of the remaining wealth to his wife and son respectively. The rest he divides equally between his
three daughters. One of his daughter gets Rs 42 lakh as her share. What was the man's wealth (in Rs lakhs)?

Ueh fch ST YU T 30% N Ueh YHeRy TRAT ht & o & | 9 AT T ShAST: 30% 3R 25% AT 370 Tt 3R 32 aht 3T &1 F1eh! YT ag 31t i afeat & ofiw gam w0 @
fRfSia enear 81 ITh et & & ves il 42 e w fAerd §1 39 sirerft i ot Jufy (ama % 7) @ of?

Options:

Correct Answer: 400
Candidate Answer: 400

QID : 93 - A bus travels 720 km in 20 hours. Calculate its average speed in meters/second.

e 99 20 ¢ F 720 .o, i amn gg ) &1 Hiex / s § seht sitwa i it morr w1
Options:

Correct Answer: 10
Candidate Answer: 10

QID : 94 - If a boat goes upstream at a speed of 21 km/h and comes back the same distance at 28 km/h. What is the average speed (in km/hr) for the total journey?

3R Qe 14 21 fehetisiex Uit € i it @ g & faodid Sireht 8 ofiR 28 foheifier ufar ¢ & ifr & It g aek amo o7t 8, <t e am eht Sfiera Tif (fehetieter / wier) arm 82

Options:

1) 24.5

2) 24

3) 25

4) 25.4

Correct Answer: 24

Candidate Answer: 24

QID : 95 - Two runners A and B start running at 12 km/hr and 16 km/hr towards each other. They meet after 1 hour and 30 minutes. How far (in km) were they from
each other when they started?

3 uraent A SR B 3 12 fh.#h. / ger ok 16 foh.#ft. / der it ifey & Gen-gaR it vk <te 1% fham & ues 1 oik 30 e & are oo | e TRY ohed 999 3 e gER © fhae i @
(fep. . &) 22

Options:



Correct Answer: 42
Candidate Answer: 42

QID : 96 - Flight A usually takes 1 hour more than Flight B to travel a distance of 7200 km. Due to engine trouble speed of flight B falls by a factor of 1/6!, so it takes
36 minutes more than Flight A to complete the same journey? What is the speed of Flight A (in km/hr)?

IS A & HHAR TR 7200 feheitier & g 7 ot o forg I B 9 1 geT 1Ak orTaT &1 9 & @R1elt 71 ol aotg @ IS B Y 71T 1/6 & Uk ke & A9 iR St 8, gaforg 3t
T ot O} et & folG SST1 B il IS A &Y gt & 36 e aifdas o €1 38 A (frcitefiex / wer) &t nifa aram &2

Options:

1) 800

2) 900

3) 750

4) 720

Correct Answer: 800
Candidate Answer: [ NOT ANSWERED ]

QID : 97 - In how many years will Rs 2,000 yield Rs 662 as compound interest at 10% per annum compounded annually?

T Fehgfeg & TOHT et §Y 10% Ui a¥ arfifen Tergfeg saTe1 T &R § 2,000 & @ fovet auit 7 662 0 fAel?
Options:

Correct Answer: 3
Candidate Answer: 3

QID : 98 - What is the compound interest earned on Rs 80,000 at 40% per annum in 1 year compounded quarterly?

famTgl smam wr 1 9 & ufy af 40% i & & 80,000 FUAT WR fSfa Iehqfeg saTer om ghm?

Options:
1) 28317
2) 37128
3) 18732
4) 21387
Correct Answer: 37128

Candidate Answer: 37128

QID : 99 - An investor invested his saving in the stock market. The value of his investments increased by 12% and 9% in the first year and the second year respectively.
If the value of his investments after two years became Rs 97,664 then how much had he invested (in Rs)?

Qe a7 SRR SR # ST Srd ot Ra e foRa| Iach Fde 3 e # e Ugd av # 12% SR g@R a9 H 9% i §51 I & A1 o 1G4k AL 1 e 97,664 F g T4,
397 fera faer (& ) fomar am?

Options:

1) 81000

2) 75000

3) 80000

4) 72000

Correct Answer: 80000

Candidate Answer: 80000

QID : 100 - What is the rate of interest (in %) if simple interest earned on a certain sum for the 3 years is Rs 6,000 and compound interest earned for 2 years is Rs
4,160?

TS &R (% H) R 8, A gek Fffa i R 3 A1t & forg srfSia amemor sar<1 6,000 3 7R 2 |16 & forg s1fta aergies samst 4,160 T 82
Options:

19

2)8

3)12

4)6

Correct Answer: 8

Candidate Answer: 8



